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I. Vocabulary: Choose the word that best fits the given sentence. Question 1-10

C

1

When schools are locked down, we need to seek measures to insure the of
education.

(A) prevention (B) constitution (C) continuity (D) springboard

With no instructions about what to work on, the sixth graders chatted among
themselves after the teacher left the laboratory.
(A) sordid (B) explicit (C) pliable (D) mutant

Moving to a different school can be a big for young children.

(A) prognosis  (B) upheaval (C) commodity (D) manifestation

“One size fits all” teaching is a thing of the past. The nurturing of critical thinking is

in today’s global student. (A) marginal (B) negligible (C) paramount (D) peripheral

A new study offers a glimmer of hope in the grim fight against the coronavirus: Nearly
everyone who has had the disease - regardless of age, sex or severity of illness - makes
to the virus.

(A) antibodies (B) immunity (C) symptoms (D) vaccine

In most remote places access to health care is limited and the quality of services is
(A) brandy (B) moody (C)shoddy (D) trendy

It is not rare to see in human history that many emperors’ treasury was exhausted by the
wars and in their lavished lifestyle, and had no choice but oppress their subjects by
taxes.

(A) constraint (B) extravagance (C) incompetency (D) repression

In picture book discourse, authorship is often a between word-maker and image-
maker. Until recently, the author of the verbal text was deemed to hold chief responsibility
for the picture book, while the image-maker was viewed as secondary.

(A) collocation (B) collaboration (C) corporation (D) corroboration

Research has shown that nearly 85% of all adult reading has as its purpose to obtain
information. texts contain facts, details, descriptions, and procedures that are
necessary for understanding concepts and events in the world around us.

(A) Imaginary (B) Immersive (C) Expository (D) Exploratory

10

John is such a . He pays his boss compliments all the time.
(A) pedant (B) philanthropist (C) savant (D) sycophant

II. Language Teaching Pedagogy: Choose the answer that best fits the given text. Question 11-15

D

11

According to the 12-year Curriculum Guideline, there are five categories of learning
performance in which the fifth category is “Logic, Judgement, and Creativity.” Which of the
following indication is the core concept of this performance for the students at the Second and
Third phases?

(A) Students can give reasonable judgement and suggestions after evaluating given

information.




(B) Students can clarify the cause-effect relationship according to the context given. (C)
Students can differentiate objective facts from subjective opinions according to the cues
in the context.

(D) Students can do basic sorting, ordering the sequences of a story, and making basic

guessing by synthesizing relevant information.

12

The model of teaching follows a “I do it,” “We do it,” “You do it together,” and “You
do it alone” sequence of instruction.
(A) differentiated instruction  (B) gradual release of responsibility

(C) cooperative learning (D) reciprocal instruction

13

Which of the following describes communicative language tests?

(A) Learners are being tested what the grammar will allow them to say in a socially
appropriate way such as how to apologize.

(B) The structuralist approach involves assessing students’ phonemes, morphemes, and
syntactic forms.

(C) The Chomskyan paradigm focused on the rules for explaining grammatical sentences and
testing grammar knowledge.

(D) Assessing to see that learners know the pieces of a language - the sound system, the

vocabulary, the grammar.

14

According to Krashen, learners’ anxiety, self-confidence, and stress can influence their
learning. What is it about?

(A) The affective filter. (B) The modified output.

(C) The monitoring hypothesis. (D) The language acquisition device.

15

Which of the following is NOT one of the general parameters in Do Coyle’s definition of
CLIL?
(A) Content. (B) Communication. (C) Cognition. (D) Competence.
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